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Question No. 1

Ao @ qof S

JE, 0J, SO, VT, (.)
A) XY B) LG

C) RT D) AD

Complete the series.

JE, 0J, SO, VT, (...)

A) XY B) LG
C) RT D) AD
Answer Key: A Your Response : A (Correct)

Question No. 2

gaT W IoReT dlell a3l I §aT G@RT Hled AT T RIAT ST &7

A) Teudegd so B) e ael
C) =YuT §of D) &carehyor - §o

Which force is exerted by air on objects moving through it?
A) Electrostatic force B) Magnetic force
C) Frictional force D) Force of gravity

Answer Key : C Your Response : C (Correct)




Question No. 3

T gl ¥ d gff W ua, M 3R m, geaerrt arer ar Rist & @i oo arer 3ot Sor (F) &

A AT ¢, &l G uichar 1 R 8, O Grafie qocareor faais wer Srar 87
A) F=G(Mxm)/d By F=G(Mxm)/d
C) F=Gxd/Mxm D) F=Gxd/Mxm

What is the formula for the force of attraction (F) between two objects of masses M and m
which lie at a distance d from each other, where G is the constant of proportionality called as
universal gravitation constant?

A) F=G(Mxm)/d B) F=G(Mxm)/d?
C) F=Gxd*/Mxm D) F=Gxd/Mxm
Answer Key : B Your Response : B (Correct)

Question No. 4

I8 HERT AT Ao o 7 (a+vb) sk (a-vb) §

A) B)

x*-2ax+(a*-b)=0 X*-ax+a*-b*=0

0 D)

X*+ax+a’-b*=0 X’ + 2ax-(a*-b)=0

Find the equation whoseroots are (a +/b J and ( a-+b ] :




A) B)

X - 2ax+(a@*-b)=0 X*-ax+a’-b*=0

0 D)

+ax+a*-b*=0

"

*+2ax-(a*-b)=0

b

Answer Key : A Your Response : D (Wrong)

Question No. 5

R e Rieedt #F & s @ g
A) EUFV B) LNMO
C) APBQ D) GWHX

Find the ODD one out from the given options.

A) EUFV B) LMNO
C) APBQ D) GWHX
Answer Key : B Your Response : B (Correct)

Question No. 6

Jieis FIET 9gH Foar #r RAdeX 2018 H iR HaR AT fafdes (BSNL) & r
Sz 3ausT fAgwd fmar o g

A) et drast B) P.v. fiigg

C) & A D) TTSAT sigarel

Olympic bronze medallist has been appointed as the new Brand Ambassador of

Bharat Sanchar Nigam Ltd (BSNL) since September 2018.

A) Neeraj Chopra B) P.V. Sindhu




C) Mary Kom D) Saina Nehwal

Answer Key : C Your Response : B (Wrong)

Question No. 7
dedl T Fefiehed FA B Tgell T fheeh g@rT R arm ar?

A) SRS B) AW
C) =i D) #Hsha

o

The first attempt to classify elements was made by-

A) Dobereiner B) Meyer
C) Newland D) Mendeleev
Answer Key : A Your Response : D (Wrong)

Question No. 8

Vs $sW FT T F AT 82
A) T B) dRarsir
C) wedid D) ercReT

9

With which sport is Roger Federer associated?

A) Tennis B) Archery
C) Football D) Chess
Answer Key: A Your Response : A (Correct)

Question No. 9

7oy AR Afen JAfT AR e
A) Fger B) AT
C) IIdAx D) selliEcel

9 2

The male and female sex cells fuse to form a-

A) Gastrula B) Zygote




C) Gamete D) Blastula

Answer Key : B Your Response : B (Correct)

Question No. 10
WAFE 10x4-2x (42+4)+2+(12)+9
A) 40 B) 41

C) 31 D) 35

Simplify: 10 x 4 -2 x (42+4)+2+(1/2) + 9

A) 40 B) 41
C) 31 D) 35
Answer Key : B Your Response : B (Correct)

Question No. 11

T A gshT (ToF d) T A S B
A) SRRt B) e
C) e D) fRRT

Pulse beat is measured from-

A) Capillary B) Nerve
C) Artery D) Vein
Answer Key : C Your Response : C (Correct)

Question No. 12

&Y UIST UH &F FI HAer: 5 3N 6 6 H HT Hhd g1 Th T UBT &F A 12 9 H Frer W
dhar &1 3T oo usT @ RE S, ar & @ sRe a1 el Sl F 9T 9T §HT A Y

A) 9/2 g # FTelr g B) 30/17 &¢ & X9
C) 60/17 ¢ #H & D) 30/11 &¢ # #3M

Two pipes can fill a tank in 5 and 6 hours respectively. A third pipe will empty it in 12 hours. If all




A) Emptied in 9/2 hours B) Filled in 30/17 hours
C) Filled in 60/17 hours D) Filled in 30/11 hours

Answer Key : C Your Response : C (Correct)

Question No. 13

TF JARR &b I &AaT 3080 T Hex g1 I 30 3muR & Bswr 7 #Hiex g, ar & #r
IETS AT A

A) 15 e B) 25 e

C) 10 #Hex D) 20 #exX

The capacity of a cylindrical tank is 3080 m3. If the radius of its base is 7 m, find the depth of the
tank.

A) 15m B) 25m
C) 10m D) 20 m
Answer Key : D Your Response : D (Correct)

Question No. 14

TF e .34 # 8 @ & ¥ UT WG § AN 3e% €57 7 12 ¥ T ¥ AT 99 &ar g1 .45
T G T WIS FA & AT el A9 =T giar?

A) 135 B) 90

C) 150 D) 100

A man bought apples at the rate of 8 apples for Rs.34 and sold them at the rate of 12 apples for
Rs.57. How many apples should be sold to earn a net profit of Rs.457?

A) 135 B) 90
C) 150 D) 100
Answer Key : B Your Response : Not Answered

Question No. 15




TT *IT et H I I8 Apld I, FT A 1G0T AT 9T &l T Hdm
arl |

Choose from the alternmatives the figure that best completes the
pattern given below.




Answer Key : B Your Response : A (Wrong)

Question No. 16
HET YcTET Y NS FN TIAT 8T HleT &2
A) 3TEerr T B) P.C. #Hidr
C) snfecy o D) gafrer et

Who is the present Chairman of Central Board of Direct Taxes?

A) Akilesh Ranjan B) P.C. Mody
C) Aditya Vikram D) Sushil Chandra
Answer Key : B Your Response : Not Answered

Question No. 17

Ry e Remodt 3 & 3 Y 9
A) ES B) BO
C) CP D) DQ

A) ES B) BO
C) CP D) DQ
Answer Key : A Your Response : A (Correct)

Question No. 18
THEIE 76T foFa TG 3ehier A gAY Ierell &7
A) Hide B) ToruUsi
C) IRIR D) sreiam

Through which national park does the Ramganga River run?
A) Corbett B) Ranthambhore

C) Periyar D) Kaziranga




Answer Key : A Your Response : D (Wrong)

Question No. 19

AR %A & 93 faet & wAged wfadiel a1 gopA, 3reer reer wfadel & gorA &

¥ e A g

A) HeR B) geif @r =T

C) IrTshel D) 3[uTethel

The reciprocal of equivalent resistance connected in parallel is the of reciprocal of

individual resistances.

A) Difference B) Sum of squares
C) Sum D) Product
Answer Key : C Your Response : C (Correct)

Question No. 20

& TS i F e @l R #2

A) B)

11 15

0 D)

13 21




How many straight lines are there in the given figure?

A) B)
11 15
0 D)
13 21
Answer Key : C Your Response : C (Correct)

Question No. 21

SIfARAT &7 39T a9 fFar sar 8§, S ot el &r Haelr 3T FHET g Bl
A) ®Hg B) U
C) I& D) &

Dialysis is used when a patient has serious trouble with-

A) Lungs B) Liver
C) Kidneys D) Heart
Answer Key : C Your Response : C (Correct)

Question No. 22

ars, afaror fGRm fr 3T 550 Hier Terdr § AT BT 918 3 FHH 200 #HieX wgerar g1 B F 7%
a1 3 FZH 200 FeT T ¥ 39 98 IS Rg & frw foer & §2




C) af&tor qa D) ufgH

Sai walks 550 m towards south direction and he then took left and walked 200 m. Again he took
left and walked 200 m. Which direction is he now from the starting point?

A) North B) South
C) South east D) West
Answer Key : C Your Response : C (Correct)

Question No. 23
TS HIA F HAlog soaciar $r AftFad TEar T g7 @R AT A Sl §?

A) 2n B) on2

C) 2n + 1 D) n

The maximum number of electrons present in a shell is given by the formula-

A) 2n B) 2n2
C) 2n+1 D) n
Answer Key : B Your Response : Not Answered

Question No. 24

TR yepfar o & T &

A) FHBT B) g wary

C) v D) &ARN IR fawARt gt

Mixture can be in nature.

A) Homogeneous B) Pure substance

C) Heterogeneous D) Both homogeneous and heterogeneous
Answer Key : D Your Response : D (Correct)

Question No. 25

A= o ey 3 AAATE CAREE




A) HTe B) feaTTer weer
C) BT D) #:ET weer

Which of the following States won the platinum of Web Ratna Award in Digital India Awards
2018?

A) Kerala B) Himachal Pradesh
C) Tripura D) Madhya Pradesh
Answer Key : C Your Response : Not Answered

Question No. 26

qﬁl+la;rmlxl%’ l_la;rml+l%’ lxlmwl_l_lmlé'lﬂml_l%,m-
42 -6 x7+8+9-3=7

A) 70 B) 66

C) 60 D) 19

If '+' means X', '-' means '+, X' means '+' and +' means -, then 42 -6 x7+8+9-3=7?

A) 70 B) 66
C) 60 D) 19
Answer Key : C Your Response : C (Correct)

Question No. 27

afe et et T AT AT 20 § 3R FET FT GE@R (width) 5 8, FET FHr e v Il dand
AT

A) 175 - 225 B) 18 - 22

C) 17 - 22 D) 17 - 23

If the midvalue of a class is 20 and the width of the class is 5, find the lower and upper limits of
the class.

A) 17.5-22.5 B) 18-22




C) 17 -22 D) 17 -23

Answer Key : A Your Response : A (Correct)

Question No. 28

HEY HYA H TIT FLl

1. v A it RS TaE, v 3afass Y F wryr Beemer e g
2. ufAs, v Ber fr v Y Jge 9 81

3. RufAs & 3maas = 1/3 x 3MUR & &9 X FEaeR e

4. T OSH &7 3T = 1/2 YR F &% X S5
A) Fad FUT 1, 2 3R 3 B) had AT 1
C) sad &7 1 3R 3 D) @hael ®¥sT 1, 3 3R 4

Mark the right statements.

1. The lateral surfaces of a pyramid are triangles with a common vertex.
2. A pyramid is a special case of a prism.

3. Volume of a pyramid = 1/3 x base area x vertical height

4. Volume of a prism = 1/2 base area x height

A) Statements 1, 2 and 3 only B) Statement 1 only
C) Statements 1 and 3 only D) Statements 1, 3 and 4 only
Answer Key : C Your Response : C (Correct)

Question No. 29

AR & STefeh hieT &7
A) gaT B) #Hsdl
C) $adl D) A

Who is the Father of Genetics?

A) Punnet B) Mendel




C) Castle D) Morgan

Answer Key : B Your Response : B (Correct)

Question No. 30

frfaf@a & & P aeT & Y00 VAT & a7 g1 & F Sger [{edr Yersa S UA. S
WG Heel Yo TR AT far arm?

A) ¥erETe B) el
C) PR D) #gX

38

In which of the following cities was the railway stations recently renamed as Puratchi Thalaivar
Dr. M.G. Ramachandran Central Railway Station?

A) Hyderabad B) Chennai
C) Coimbatore D) Madurai
Answer Key : B Your Response : Not Answered

Question No. 31

P 3Rk Q & AR Y FT I 6:7 81 Q, P & 4 9§ §37 §1 4 a¥ 915 3T Y F AT
T gRI?

A) 7:8 B) 5:8

C) 8:3 D) 7:9

Present ages of P and Q are in the ratio 6 : 7. Q is 4 years elder to P. What is the ratio of their
ages after 4 years?

A) 7:8 B) 5:8
C) 8:3 D) 7:9
Answer Key : A Your Response : A (Correct)

Question No. 32
Saafierel QT fre TsF & FdAeT Tsqarer §7

A) FERTSE B) 3m#

- ~




Banwarilal Purohit is the present Governor of-

A) Maharashtra B) Assam
C) Tamil Nadu D) Karnataka
Answer Key : C Your Response : D (Wrong)

Question No. 33

3W NPT H TS B, S HeAnEd A0 % @i & wew &
Hafead &1 O ST +ear 2l

FATH, MU, g

A) B)

o) D)

Choose the figure that best represents the relationship among the
classes given below.
Adult, Singer, Children

A) B)

0 D)




Answer Key : A Your Response : D (Wrong)

Question No. 34
3y Jad ARON F Algg FeATeR F F T FET AT 57
A) THg B) &ruf
C) 3mad D) et

The modern periodic table has vertical columns known as-

A) Groups B) Table
C) Periods D) Columns
Answer Key : A Your Response : D (Wrong)

Question No. 35

frerfaf@a 7 @ Fla a1 M RBu a1v d@aer i wafeasr dor § qoF Ham?

Which of the following will best complete the relationship given below?

XJ:VO:HT:?




Question No. 36

TG B AT AT Y
A) 17/21 B) 15/19
C) 7/8 D) 13/16

Find the smallest fraction.

A) 17/21 B) 15/19
C) 7/8 D) 13/16
Answer Key : B Your Response : A (Wrong)

Question No. 37

39 f3deT & TIF Y, AT AHT F 98T BT (7) & T W
S % fore wafeas 3uged &l

6] 9 7

251 2
N .| |

100 7 | @

a0 | 28 | 25

A) B)

[
(o)}

0 D)




Choose the alternative that best replaces the question mark(?) in the

given figure.
6 9 7
3 b | 2
10 ] 7 ?
30 | 28 | 25
A) B)
5 6
0 4 D) g
Answer Key : A Your Response : Not Answered

Question No. 38

forelr fAfR%re pesmr A, 123 w1 AT 'hot filtered coffee’ 8, 356 = #Adeld 'very hot day' 3iRX
589 T Hclord 'day and night' §1 39T s & fhershr Aot 'very' grem?

A) 9 B) 5

C) 8 D) 6

In a certain code language, 123 means 'hot filtered coffee'; 356 means 'very hot day' and 589
means 'day and night'. Which digit stands for 'very'?

A) 9 B) &5
C) 8 D) 6
Answer Key : D Your Response : D (Correct)

Question No. 39

TFd T 872

A) TF IS Fdh B) & uell Fds




C) Ts Ui Faes D) T& HERSF s

What is blood?

A) A connective tissue B) A muscular tissue
C) A packing tissue D) A supporting tissue
Answer Key : A Your Response : D (Wrong)

Question No. 40

ar 93y P 3R Q U &F FI eRE-31e9T 60 e 3K 40 Ree #F s g §1 I gg e
9ET Q F HY v F AT @er sar § 3R R usy P @ o @ ar Sier €, & fhae
31 Aee F sem?

A) 8 e B) 10 f&sic
C) 4 e D) 6 f&ec

Two pipes P and Q can individually fill a tank in 60 minutes and 40 minutes. If pipe Q alone is
open for the first half an hour and then pipe P is also turned on, in how many minutes more will
the tank get filled up?

A) 8 minutes B) 10 minutes
C) 4 minutes D) 6 minutes
Answer Key : D Your Response : B (Wrong)

Question No. 41

R 1w Rasedt 3 ¥ T B |
A) 280 B) 325
C) 226 D) 145

Find the ODD one out from the given options.
A) 280 B) 325

C) 226 D) 145

Answer Key : A Your Response : C (Wrong)




Question No. 42

cos 20° cos 35° cos 45° cosec 55° cosee T0° T AT AT HhITAT|

A) B)

0 D)

=
—
15

Find the value of cos 20° cos 35° cos 45° cosec 55° cosec T0°.

A) B)

0 D)

1/2

a1~

Answer Key : C Your Response : C (Correct)

Question No. 43




Find the number of carpets required to spread along the floor of a room of dimensions 40 m x
24 m, if each carpet measures 6 m x4 m.

A) 12 B) 40
C) 18 D) 15
Answer Key : B Your Response : B (Correct)

Question No. 44
FAN R & T Fgca Ul AR F ¥ o, Reged 3% wgl U o 82
A) 9T & 3 B) @Y & 3ic
C) fig &1 g2 & g A & g D) &Il & 37eT

Pituitary gland, one of the most important glands of our body;, is located-

A) Inside the stomach B) Inside the skull
C) Near the lower end of the backbone D) Inside the chest
Answer Key : B Your Response : B (Correct)

Question No. 45

Rfaf@d IR F e § 96 3R A Re 1w w2eT #r 3caw &I

9RE A al FAGCR didadl # 8 &, T4 Ufhd H OF AFd 0 TR S5 ¢ T 0w qav &
T & 95 FfFadt & & Hr o FAE ¢ 9T -1 #, G, H, |, J, K 3R L 85 §, 3k T @eh
gfeaor T 3R He AU gT §1 9Rd -2 A, U, V, W, X, Y 3R Z 9 §, 3R ¥ @l 3ok fr 3R
#g T gU §1 SAIAT, & 9§ do7 Y SHaE & AR Uk dfFd A JoT T Ferd qudr ik
¥ 3 HeHT Hr 3R FE Frhw U g

U, X & a1§ 3R ey T @ o1 §1 & & U 3l & & X frdlr s W 33 §1 K, X &r 3R 57
T gu &1 L, U & 3R g =78 v gu & 3K L 9 & el sff o) @ &gt do1 81 L, K &




fAeean gl &6 81 V dfFa & R v o W Sor §1 V 3R Y & 9 Faa o afEd 8§
Y, L i 3R 7 & 78 dor 81 1 3K H & &g @ aafFa 88 §1 |, K &1 Seeas agidr a8
g1 W, L I 3R Hg & 760 9T §1 G, | F1 foereas wgidr 8t &l

G LI e GRT &AW, Z & T &1 Y, =37 ¥ Fed 9y & & S6fta &2
A) Z B) V

C) X D) U

Read the following information carefully and answer the question given below.

Twelve people are sitting in two parallel rows containing six people each, in such a way that
there is an equal distance between adjacent persons. In row-1, G, H, |, J, Kand L are seated,
and all of them are facing south. In row-2, U, V, W, X, Y and Z are seated, and all of them are
facing north. Therefore, in the given seating arrangement each member seated in a row faces
another member of the other row.

U sits third to the right of X. Neither U nor X sits at the extreme ends. K faces X. L does not face
U, and L does not sit at any of the extreme ends. L is not an immediate neighbour of K. V sits at
one of the extreme ends. Only two people sit between V and Y. Y does not face L. Two persons
sit between | and H. | is not an immediate neighbour of K. W does not face L. G is not an
immediate neighbour of .

G is related to L in the same way as W is related to Z. Y is related to who among the following
in the same pattern?

A) Z B) V
C) X D) U
Answer Key : B Your Response : Not Answered

Question No. 46
603% I SAAAT FT 7 Tad FHfov|
A) 0.603 B) 0.0603

C) 60.3 D) 6.03




Express 603% as a decimal.

A) 0.603 B) 0.0603
C) 60.3 D) 6.03
Answer Key : D Your Response : D (Correct)

Question No. 47

39 @FeT & TIF HY, AT AP F 99 ®Ed (7) & T W @
1 % T wafeasr sugea &

2] 43
3 6 8
6 5
20 | 46 | ?
A) 43 B)
45
O o D)
48

Choosge the alternative that best replaces the question mark(?) in the

given figure.
2| 4 3
6 | 8
5]
20 | 46 | ?

A) B)




43

45
o) 40 D)
438
Answer Key : A Your Response : A (Correct)
Question No. 48
faregeroTcHTar Rl aRaToy $r T &7HAT H AT F
A) et #r i wer B) golaclal @l Sfhia et
C) SoFCiell @l 3ehiNd el D) Wielr &l 3hiNd el

Electronegativity is the measure of the capacity of an atom to-

A) Repel protons B) Repel electrons
C) Attract electrons D) Attract protons
Answer Key : C Your Response : D (Wrong)

Question No. 49

39 faREa #AET @ =T FET S 8, O W RIS 7 §F F 9RE AN gAT §?

A) T B) 37aT

C) g D) T

What is the definite path on which the planet revolves around the Sun, called as?

A) Path B) Axis
C) Ring D) Orbit
Answer Key : D Your Response : D (Correct)

Question No. 50




gfe A+ px® +qx2 + x + 8], (@ - 1), (x - 2) 3R (x - 3) & fTT &, p 3R s F AF FHAMw:
AT H]
A) -5, -6 B) -5, -5

C) -5, 6 D) 5, -6

If pd+ px® +qx2 + rx + s] is divisible by (x2 - 1), (x - 2) and (x - 3), values of p and s are

respectively:

A) -5,-6 B) -5,-5

C) -5,6 D) 5,-6

Answer Key : A Your Response : Not Answered

Question No. 51

§R, WERF gaa & T A 1 7 et & B

A) & B) airer

C) drer D) el

Alkalis turn universal indicators-

A) Green B) Blue
C) Yellow D) Red
Answer Key : B Your Response : B (Correct)

Question No. 52

U qRaR H, Tar $T 31 365 Tk 9 & Y FT 5 T[T g1 Al B Y 38F g@ 9 AT 3y
T 4 T 1 ATCT-FAAT Fir 3T 7 3HeR, S i 3G F Ay F 3w g oA

A) 3T 3H FT 3R 5 & B) d Sfzai &l

C) Tesh ¢ &I Y A & Jolell H Q[T &1 D) 3eTeht 3 &1 IleT 5 F 3iTeh g

In a family, the father's age is 5 times the age of one of his sons. Mother's age is 4 times the
age of their other son. Difference in the parents' ages is half the sum of the sons' ages. Then:

A) The difference in their ages is 5 B) They are twins




C) One son is twice as old as the other D) The sum of their ages is a multiple of 5

Answer Key : B Your Response : Not Answered

Question No. 53

afg R esT F 'ADVENTURE' &t 'ERUTNEVDA' forar Sirer &, & 33t swr & 'GREEN' &
FO o@r SRem?

A) NEEGR B) ENEGR

C) NEERG D) GEREN

If ' ADVENTURE' is coded as 'ERUTNEVDA!, how is 'GREEN' coded?

A) NEEGR B) ENEGR
C) NEERG D) GEREN
Answer Key : C Your Response : C (Correct)

Question No. 54

HTUT AT 49 H 3UTEAT FlT AT 3YHIOT &afey AT FIar &7

A) T3 THFUX B) T

C) TFIIHIRR D) HISHIBIA

Which device present in the hearing aid receives the sound?

A) Sound actuator B) Speaker
C) Amplifier D) Microphone
Answer Key : D Your Response : D (Correct)

Question No. 55

Aot # qof el

X, U, R, O, L, ()

A J B_K




C) | D) L

Complete the series.

X,U,R, O, L, (...)

A) J B) K
C) | D) L
Answer Key : C Your Response : C (Correct)

Question No. 56

T g N URT B 4R A v AREd qft a7 e 7 12 °¢ oea § 3R amaw dles # 24 €5
A §1 A GaRT AT A F FAWT § 7T F A Frcter THT F@m?

A) 10 @er B) 15 =er

C) 16 =er D) 18 ®er

A boat takes 12 hours to go downstream and 24 hours to return while covering a certain
distance. What is the time taken by the boat to cover the same distance in still water?

A) 10 hours B) 15 hours
C) 16 hours D) 18 hours
Answer Key : C Your Response : D (Wrong)

Question No. 57

fFerERier Y F i Aae W Qs s= g €
A) SEHRES B) T 3% a
C) Uterss D) 3iferidess

Lipids are formed when glycerol combines with-
A) Disaccharide B) Fatty acids
C) Peptide D) Oligosaccharide

Answer Key : B Your Response : B (Correct)




Question No. 58

Rl aR ¥ 10 THIRR fr 9T Tgdr & o9s /T & fig &1 R[eEaw 3 diee §1 af & 9oy
fr 0T )

A) 6 Q B) 30

C) 0.3 Q D) 0.6 O

A current of 10 Ampere flows through a wire whose ends are at a potential difference of 3 Volts.
Calculate the resistance of the wire.

A) 6Q B) 3Q
C) 0.3Q D) 0.6Q
Answer Key : C Your Response : C (Correct)

Question No. 59

15:11 & 3e[UT drell & HE&AHT 1 AF.G(HCF) 13 Bl 3o SL.{.9(LCM) AT Tl
A) 27885 B) 2145

C) 4290 D) 165

Two numbers in the ratio 15 : 11 have their HCF to be 13. What is their LCM?

A) 27885 B) 2145
C) 4290 D) 165
Answer Key : B Your Response : Not Answered

Question No. 60

T A F MY ¥ RAFEN F MY &7 3077 Fior 60° § 3 Taw F MY § Rewh & arg Big =
a8 0T 30° &1 I <fax FHr Far$ 40 #Hex &, aF ek Hr FA$ AT

A) 175 #Hrex B) 192 #Hex
C) 220 Hex D) 160 Hrex

The angle of elevation of the top of a chimney from the top of a tower is 60° and the angle of
depression of foot of the chimney from the top of the tower is 30°. If the height of the tower is 40

m than find tha hainbA S AL~ Lo




A) 1756 m B) 192m
C) 220 m D) 160 m

Answer Key : D Your Response : D (Correct)

Question No. 61

fAefaf@d Aol & squfeya & d fhifse

71, 65, 59, (.), 47, 41
A) 51 B) 53

C) 50 D) 52

Find the missing number in the following series.

71, 65, 59, (...), 47, 41

A) 51 B) 53
C) 50 D) 52
Answer Key : B Your Response : B (Correct)

Question No. 62
'FEIHSH SoAH § T oo T & g@r A §7?

A) Fr B) HISsahellel
C) aieirarer D) arfsifelar

'Uthagamandalam' is the other name of which of these hill stations?
A) Ooty B) Kodaikanal
C) Nainital D) Darjeeling

Answer Key : A Your Response : Not Answered




Question No. 63

frdr A= FeomsT , 'kemp lamp tems' H HAde 'speak the truth' @, 'bis tim nak' &
AdeT 'always seek knowledge' &, 'tim tems sik' T #dea knowledge is truth' 3iX 'lik bis
zap' T Hceld 'never seek violence' &1 3T HeHST # fFH s FT AcTeld 'always' B1om?

A) bis B) zap

C) tim D) nak

In a certain code, 'kemp lamp tems' means 'speak the truth', 'bis tim nak' means ‘always seek
knowledge', 'tim tems sik' means' knowledge is truth' and 'lik bis zap' means 'never seek
violence'. Which of the following stands for ‘always'?

A) bis B) zap
C) tim D) nak
Answer Key : D Your Response : D (Correct)

Question No. 64

fmfaf@a & & =i a1 ReFey T Ry v FHeer o w&feas o & qoF Fem?

9(541)6
7(633)9
4(222)8
A) 213 B) 321
C) 312 D) 123

Which of the following options will best complete the relationship given below?

9(541)6
7(633)9
4(272)8

A) 213 B) 321




C) 312 D) 123

Answer Key : B Your Response : B (Correct)

Question No. 65

eafer & FOROT & fAC 3raeds ARTA 398 # g wifgvl
A) SaH & T B) &a
C) & D) o
The medium required for transmission of sound should bein __ state.
A) All of the options B) Liquid
C) Gas D) Solid
Answer Key : A Your Response : A (Correct)

Question No. 66

Ca0 & IS 1A 4T §?
A) FTRRIF AA3FEES B) e sSE3iFaEs
C) FoRRIH 3iFdrSs D) hfeRMd Hothe

What is the chemical name of CaO?

A) Calcium monoxide B) Calcium dioxide
C) Calcium oxide D) Calcium sulphate
Answer Key : C Your Response : C (Correct)

Question No. 67

fAerfaf@a & @ Fila @1 faeggd & gares 87

A) T B) dreT

C) =Arscrele D) WiEhRY

Which of the following is a good conductor of electricity?

A) Sulphur B) Copper




C) Nitrogen D) Phosphorous

Answer Key : B Your Response : B (Correct)

Question No. 68

o A GellcAs HEA # 4 "SR Sl §, of WIod §&AT 36 6&; h FohA & 21 I &
S @ S &1 §& AT Fifere]

A) S B) 4

C) 7 D) 5

When a positive number is decreased by 4, it is equal to 21 times the reciprocal of the number.
Find the number.

A) 9 B) 4
C) 7 D) 5
Answer Key : C Your Response : C (Correct)

Question No. 69
96 W& I S 11§ sy B
A) 3178 B) 16461

C) 1341 D) 325182

Choose the number that is divisible by 11.

A) 3178 B) 16461
C) 1341 D) 325182
Answer Key : D Your Response : D (Correct)

Question No. 70

RN fFy TeEy ¥ GEftT ar?
A) &g B) e

C) @va D) A




A) Nanda B) Gupta
C) Kanva D) Maurya

Answer Key : D Your Response : D (Correct)

Question No. 71

3MTYT YeRT T I T AT 872
A) g B) @R (Sambar)
C) duar D) wrelm et

What is the state animal of Andhra Pradesh?

A) Elephant B) Sambar
C) Rhinoceros D) Black buck
Answer Key : D Your Response : Not Answered

Question No. 72

¥.10000 T 3% A aT & 3 9§ W WIS WROT A1er 3R Twhgfg sarer & &I 3R AT HL
A) %.16.25 B) ¥.27.27

C) %.17.82 D) %.21.54

Find the difference between the Simple Interest and Compound Interest on Rs.10000 for 3
years at the rate of 3% per annum.

A) Rs.16.25 B) Rs.27.27
C) Rs.17.82 D) Rs.21.54
Answer Key : B Your Response : B (Correct)

Question No. 73

SIS I FT $F AW FAT ST 8, S gar i equiddfa 7 33 defr § 07 F@r &, o Fi
| 3G 9IS g §?

INBEEE] B) @l%h

~ T SN === -




Which product is obtained when coal is subjected to destructive distillation that is heating
strongly in the absence of air?

A) Diesel B) Coke
C) Petrol D) Kerosene
Answer Key : B Your Response : B (Correct)

Question No. 74

39 W H, & FUT F a1g ar sy R arw §1 397 fewd(s) A oo S aife w9 & waifew
39 &l

Yo
1) 3ft I, i

2) o g, Fid g
TSRy
|. et i, grelr &

Il. Fo g, T §
A) fosed | 3R 1l g & 3uged g B) whael sy I 3ugerd Fl
C) & o @Sy | 3R o1 €1 sy || 3ugeFd &1 D) dhael ishy | 3ugerd g

In this question, two statements are given followed by two conclusions. Choose the
conclusion(s) which best fit(s) logically.

Statements:
1) All cows are crows.
2) Some elephants are crows.

Conclusions:
I. All cows are elephants.

II. Some elephants are_cowe




A) Both conclusions | and Il follow B) Only conclusion Il follows
C) Neither conclusion I nor [l follows D) Only conclusion | follows

Answer Key : C Your Response : C (Correct)

Question No. 75

feafaf@a F & #ia @ & 2019 7 gfAar = gger qUF R 53 Alage Acad dlea w1
qrell ggell &2 Fell?

A) 3R SIRar B) SITUTeT

C) &faror ST D) USA

Which of the following countries was the first to launch the world’s first fully-fledged 5G mobile
networks in 20197

A) North Korea B) Japan
C) South Korea D) USA
Answer Key : C Your Response : C (Correct)

Question No. 76

g%or, fig A ¥ 5 TRl e 3R & aR g 3R 73T R 9% IR oo W 8 forer afvesr &
3R Tl Ng A & 30 Tha fQRm & =erem g fhar an?

A) Fc B) ufRas
C) 9§ D) af&ror

a

Varun walked 5 km from point A and turned right two times and walked 8 km respectively facing
towards west. Which direction did he start at point A?

A) North B) West
C) East D) South
Answer Key : C Your Response : Not Answered

Question No. 77




0.33_0.1667x0.8333 -
= E:II;I didHd
0.22 0.6667x0.1250 Rl __ %R R SO BT §)
A) B)
3 o5
0 D)
1.5 9

0.33 v 0.1667x0.8333 .

Value of - — is nearly equal to-
0.22 0.6667x0.1250

A) B)
3 2.5
C) D)
1.5 2
Answer Key : B Your Response : B (Correct)

Question No. 78

UF T e, TF @ g A AN H{E =S e ¢ AR B o 3K s §) AR aw 9 AR
A ¥l 319 9% forg e B 3y e feu Zw 32




C) uiaH D) 3cX

One day morning, a girl was walking towards sun and then she turned left. Again she took left
turn. Which direction was she facing now?

A) East B) South
C) West D) North
Answer Key : C Your Response : C (Correct)

Question No. 79

T el Toh 5 TAG 90T & HHAA 10 Hier H gt W ST ¢ 39 wfafdd § 5 der f
gl W Tgg= & AT 3§ frceh g T gem?

A) 4 FreX B) 5 #lexT
C) 7.5 Hiex D) 2.5 #ex

A man stands 10 m in front of a large plane mirror. How far must he walk before he is 5 m away
from his image?

A) 4m B) 5m
C) 7.5m D) 25m
Answer Key : C Your Response : D (Wrong)

Question No. 80

5% T fordeTr gfaerd 3% &7
A) 60% B) 30%

C) 50% D) 15%

What percentage of 5% is 3%?
A) 60% B) 30%
C) 50% D) 15%

Answer Key : A Your Response : A (Correct)




Question No. 81

el o] & e fed AR T 7o A IFId A9 ST, ARG 37 a&G W 6T 12% &
A) 32:25 B) 12:5

C) 28 : 25 D) 14 : 10

What is the ratio of selling price to the cost price of an article, if there is a profit of 12%?

A) 32:25 B) 12:5
C) 28:25 D) 14:10
Answer Key : C Your Response : C (Correct)

Question No. 82

PRfRa FaaR FF & @ 96 3R A RE 1T 9o #r 3ca¥ &I

3 =FfFd- L, M, N, O, P, Q, R 3R S T& FedR &t & dIRT 3R Fg A 3N HE :h 95
g, AfheT IR oar foF O AT HF H gl 39+ F T AF - Yo, Afad, A, TEY8T, IUTETET,
9 oY, AT Feesr 3R gt e, # & 3e[r 36T 96 W §

L, Saer fAcerr & o8 3R Y BT W doT §, 31 yayr fades 3R S & & dhaer & dler 8
g1 Ut IR WRT Th gEy & hcasd SR/l §1 7 o L 3R 7 & S, 3urewst ar afea gl
3UTETET, WY fsers 1 fsweaw gl AE 1 Yeu, P & a18 3R @y T W T 1 P, S
F1 fcan TR A8 § wEuw, T &t AR Ry soeER A # Seean wsRi ¥
e TaEeR M & g 3R Y T W do1 &1 M, 3uredeT =gl g1 N, I393T & 8% a5
3R Far §1 L, AT 8 81 Q, L F fvereasr worlr 7@ 1 R, Wouw F e qslr @t
gl

M Foel #F Prafaf@d § ¥ B 9 W 872
A) ey e B) wstrh

C) afg D) I

Read the following information carefully and answer the question given below.




Eight persons—L, M, N, O, P, Q, R and S are sitting around a circular table facing the center
but not necessarily in the same order. Each one of them holds a different post—Manager,
Secretary, Chairman, President, Vice President, Group Leader, Financial Advisor and Managing
Director.

L sits third to the right of the Managing Director, and only two people sit between the Managing
Director and S. The Vice President and the Secretary are immediate neighbours. Neither L nor
S is a Vice President or a Secretary. The Vice President is not an immediate neighbour of the
Managing Director. The Manager sits second to the left of P. P is not an immediate neighbour of
S. The Manager is an immediate neighbour of both the Group Leader and the Financial Advisor.
The Financial Advisor sits third to the right of M. M is not the Vice President. N sits to the
immediate right of the Chairman. L is not the Chairman. Q is not an immediate neighbour of L.
R is not an immediate neighbour of the Manager.

Which of the following posts is held by M in the company?

A) Managing Director B) Manager
C) Secretary D) Chairman
Answer Key : C Your Response : Not Answered

Question No. 83

A) B)
4
E 3/4
(@] D)

2.3 4/3




Evaluate: [J_ -

)
r I.;I

A) B)
4
N ]
NG 3/4
0 D)
2.3 4/3
Answer Key : C Your Response : D (Wrong)

Question No. 84

ar At # AT 232 §l 3AH AAG(HCF) 29 7l 1T & T &1 oA Heasit & wenfaa
AT Y& H §7?

A) 55, 177 B) 58, 174

C) 29, 203 D) 22, 137

The sum of two numbers is 232. Their HCF is 29. Which of these pairs give the possible values
of the numbers?

A) 55,177 B) 58, 174
C) 29, 203 D) 22,137
Answer Key : C Your Response : C (Correct)

Question No. 85

HHY JATEROT YGuUT uhish (CEPI) U i AT g, S I GIHpd FIT &

A) @IeZ 3cUtel HT I[oTded B) el & 0T

C) WA= Hr ITuTaeaT [N v =m0 = oy e = e




Comprehensive Environmental Pollution Index (CEPI) is an index value which characterises-

A) Quality of the food products B) Quality of the fruits
C) Quality of the minerals D) Quality of the environment
Answer Key : D Your Response : D (Correct)

Question No. 86
fRrfaf@d # ¥ Fi9 a1 & qEAE aRadd §?
A) §% T gt gl Soar B) STel &l 3delhy dTsT Sodoll

C) aXeliehd Uelferdd 38 (LPG) &l &gel D) 9l & &1 &1 faees

Which of the following is a chemical change?
A) Melting of ice to give water B) Boiling of water to give water vapour

C) Combustion of Liquefied Petroleum Gas D) Dissolution of salt in water
(LPG)

Answer Key : C Your Response : C (Correct)

Question No. 87

3T & IR H faf@d F & SleT 1 FUT 9T 87
A) #3d gld § 3R el foledmdT & ol W1 7 B) &89 8l § 3R o foead &1 sfer @1 &

deol ¢d ol deol ol gl
C) @We 8ld & 3N o folcay @l el T # D) We gld § 3R &l foleAq & o &1 &
dGel ¢ ol gl ¢ gl

Which of the following statements is TRUE about acids?

A) Bitter and change blue litmus to red B) Bitter and change red litmus to blue
C) Sour and change red litmus to blue D) Sour and change blue litmus to red
Answer Key : D Your Response : D (Correct)

Question No. 88

I e g & T i $r Al B O 3N ARG HaET STar_g]




A) FHREH AR BREHRT B) Tl Y&k SHTOIhT
C) dd I&d IO D) faerfaa

A person is said to be anemic if his body has deficiency of -

A) Calcium and phosphorous B) Red Blood Corpuscles
C) White Blood Corpuscles D) Vitamins
Answer Key : B Your Response : B (Correct)

Question No. 89

Tk AR UM W 2 a9 & Thqie sarer 3R AR SISl FAL:
%.282.15 3T £.270 g1 =TT HT T AT hiaIT]

A) B)
1.,
9% 8=%
3
C) D)
2
6=% 11%
3

Compound Interest and Simple Interest on a certain sum of money for

2years is Rs.282.15and Rs.270respectively. The rate of interest is:

A) B)

oo
|

%

9%




C) D)

69, 11%

Answer Key : A Your Response : B (Wrong)

Question No. 90

I ERSCACI| & NPT V T
A) Sfrarg B) faw
C) AT D) fsror

el

Toxicology is related to the study of-

A) Bacteria B) Poisons
C) Diseases D) Viruses
Answer Key : B Your Response : B (Correct)

Question No. 91

Rw v fwedt F & I F A
A) 73 B) 63
C) 43 D) 53

Find the ODD one out from the given options.

A) 73 B) 63
C) 43 D) 53
Answer Key : B Your Response : B (Correct)

Question No. 92

59 W H, & FYUT F 91g ar sy QU 9w §| 37 Asnd(sh) A G S aifew 9§ qeiftw
39gFT &l




e
1) Tefr s, eta= &

2) gefr Xars, & &
TSy
. T3 fasfear, et &

I. T& ar, Bshmr §
A) Fad fTshy || 3UFFA g B) & @ faseny | 3R = € || 39 &
C) Fae ey | 3uged Bl D) fsed | 3R 1| a=f &7 3ued

In this question, two statements are given followed by two conclusions. Choose the
conclusion(s) which best fit(s) logically.

Statements:
1) All windows are doors.
2) All doors are walls.

Conclusions:
I. All windows are walls.
Il. Some doors are windows.

A) Only conclusion Il follows B) Neither conclusion | nor Il follows
C) Only conclusion | follows D) Both conclusions | and Il follow
Answer Key : D Your Response : D (Correct)

Question No. 93

ﬁﬁmmﬁrzﬁﬂ'é;qgﬁriﬁram'mmmsﬁwzﬁa'gmw2n?

A) 1947 B) 1946

C) 1948 D) 1949




A) 1947 B) 1946
C) 1948 D) 1949

Answer Key : B Your Response : B (Correct)

Question No. 94

P AR Q 3iher-3ishel HIH FId gU FAM: x N y T & 0F FH A QW =
Tha & P FHE A BT & AN T g Thuh T sisst Fi S & 3k
m7ﬁﬁﬁqﬁﬁm§|aﬁoa‘m%m€m%‘ﬁhp%ﬁawww
fed ®igH F HdT &, ﬂWﬁ—ﬁ?{ﬂwﬁmﬁl P 3R Q &
GETCIT T el Il

A) B)
P &I Z&Tar = Q T 8T Q T T&TAT = P HT Z&Tar
FT T5% F T5%

C) D)
P #T ga7ar : Q FT Z&7ar = P Fr gaTar = Q Fr g&Tar F
2:3 55%

P and @ working individually can fimsh a job in x and y days respectively. P
starts the work and they both work on alternate days and the job 1s finished
in 7 days. If Q starts the work and with P working on alternate days. the
work gets overin § % days. Compare the efficiencies of P and Q.

A) B)

P's efficiency = 75% of Q's Q's efficiency = 75% of P's
efficiency efficiency

0) D)




P's efficiency : Q's efficiency P's efficiency = 55% of Q's
=2:3 efficiency

Answer Key : A Your Response : Not Answered

Question No. 95
fafaf@a & & Sl O 'gar & gar # AR = qren AABT 82
A) TET B) e

C) #3r D) 3{Teprer

Which of the following is an 'Air to Air Missile'?

A) Astra B) Trishul
C) Maitri D) Akash
Answer Key : A Your Response : B (Wrong)

Question No. 96

el Tper & W3l 3R TSRl T TEAT FT 3T 3:2 &1 I 20% w5l 3 25% wsfhar wr
STAgicd WIed giell &, o fhdel IfaRid ol $ SrEgfcd 9o 1t gl §?

A) 80% B) 56%

C) 70% D) 78%

The ratio of the number of boys and girls in a school is 3 : 2. If 20% of the boys and 25% of the
girls are scholarship holders, what percentage of the students do NOT get scholarship?

A) 80% B) 56%
C) 70% D) 78%
Answer Key : D Your Response : D (Correct)

Question No. 97

S ¥ 5 W 7 gadAT el rar 87




In which of these sports is a helmet worn?

A) Basketball B) Hockey
C) Kabaddi D) Volleyball
Answer Key : B Your Response : B (Correct)

Question No. 98

$feieT garT fFe ST & 3TER fRaT ST 82

Which disease is treated by insulin?

A) Diabetes B) Tuberculosis
C) Cancer D) Anaemia
Answer Key : A Your Response : A (Correct)

Question No. 99
HIEIH, N, I 9dcTih FH T @/ WGRid fFar sar 872

A) ATEIA H YHIA I daref AR gar A Yhrer B) gar & Tl I Arel iR ARIH H Tehrer
I el T 3Tl I el T 0T

C) §aT & Wbl ohl Aol AR ATETH H YhT D) gar H Yehll Hr aArel AR ATEIHA H gahrer
T el ol e <l Tl T JTegdTcT

What is the formula for the refractive index of the medium, np,?

A) The ratio of speed of light in medium to B) The product of speed of light in air and
speed of light in air speed of light in medium

C) The sum of the speed of light in air and the D) The ratio of speed of light in air to the
speed of light in medium speed of light in medium




Answer Key : D Your Response : A (Wrong)

Question No. 100

4 #her 9f ©C A T F ToIT GO, FS Afd U A0 IHT # v AR g a7 e ¥l I
3Fh A1l dg 9 el Ui €¢ 8 Sl §, o 9% 3w & §HT A 7.5 Fiel H¥F g aF Har
gl areaa 7 98 fhaelr gft o Far 82

A) 7.5 Ha B) 6.5 i

C) 5 #ar D) 6 #rer

Walking at 4 mph, a person covers a certain distance in a given time. If he increases his speed
to 9 mph, he covers 7.5 miles more in the same time. How much distance does he cover
originally?

A) 7.5 miles B) 6.5 miles
C) 5 miles D) 6 miles

Answer Key : D Your Response : D (Correct)




